A Roll No.

No. of Questions — 24 VU—S 1— l—Geog. I

No. of Printed Pages — 7

T TS IUTATT e, 2011

dekfeqsw @ I — %ell (OPTIONAL GROUP I — HUMANITIES)

W — TIH O
( GEOGRAPHY — First Paper )
g : 3l gwe
4
qUTi : 40

THenforat &% U QT ST

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

qetTel FawerH 3109 U9 U WX A 3 ;o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

T UT & FR1 9 SIS AR H HEN YhR Rl T / SR [/ SREH
T W ERT I % T el A |

If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi
version should be treated valid.

T U9 A T TG § | T FHIE 22 F 23 H I IH IHT |

All the questions are compulsory. There are internal choices in
Question Nos. 22 and 23.

T TR T I AT T SR H & o |

Write the answer to each question in the given answer-book only.
ST WS % UH § T UF GHM 31 aret 9vT §, 37 T 9 A EA
g Faq o |

VU—51-1—Geog. I [ Turn over


http://www.studentbounty.com/

2

For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

6. U TN 2 ¥ 5 A% 3T TTIRIHS W § SHh Uk TR AT
20 TS H, T €T 6 ¥ 13 TF TIF I 30 R H, A T 14
¥ 21 TF TAF I AT 50 VR H qAT U T 22 F 24 Th
T STR O 3 Y3 H Y |
Question Nos. 2 to 5 are very short answer type to be answered in
20 words each, Question Nos. 6 to 13 in 30 words each,
Question Nos. 14 to 21 in 50 words each and Question Nos. 22
to 24 in 3 pages each.

7. W AR 1 % °R AW (i, ii, iii T iv) §| T&® 9 % IW % 9R
FHEA (A, &, WU T ) &1 W THeT H IR IR-YRaew H
AR dqr efehl gy T @U

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

U9 SHHIH el IAT HT HHER

Question No. Correct letter of
the Answer

1. (i)

1. (ii)

1. (iii)

1. (iv)

1. ()  OSS 3RT % 37 UHI el df H S ST HEHT FRT HAT ST 98 €
(37) I (@ &
(W) o T S (%) @R |

VU—51-1—Geog. I


http://www.studentbounty.com/

(i)

(iii)

Extraction of maximum crude oil in Saudi Arabia is done by the

oil company

(A) Crayens (B) GAIL

(C) ONGC (D) Aramoco. %
TEeA TR ST S §

(1) TMTEESF TR FETY  (F) UTEIEh TR & &7 F

(¥) omyga% TR & €9 ° () UEHARFETH |

The town Delhi is known as

(A) Prehistoric Town (B) Historical Town

(C) Modern Town (D) Ancient Town. %

TEIEETE SIRYRT hl HF dfcd SgHT T 998 ©

(37)  TSTA-SI-oT T, SS9, Ioiet, St 57
(@) e, g, T, e

(W) TSA-SI-oT T, S 5§91, SH S, *oiars

() TFRY TW, =S, T, e

The group of scholars believed in possibilism ideology is

(A)  Vidal-de-la Blache, Jean Brunhes, Ratzel, Demangeon
(B) Kant, Humboldt, Ritter, Ratzel

(C) Vidal-de-la Blache, Jean Brunhes, Demangeon, Blanchard

D) Griffith Taylor, Blanchard, Ratzel, Febvre. %
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(iv) O L & MR TH P G SR &

(37) SEE F AR (&) HET U AT
(¥) P T TaTEA () AP AR |
The fundamental base of the economic development of any
nation is

(A)  size of population

(B) capability of human resources

(C) natural resources

(D) physical environment. %
2. TR % § WERE Areqd A @ |
Write two traditional means of transportation. % + % = %
3. TR g % & TH WET T @ |
Write two main forms of urban settlements. % + % = é
4.  SHEE % FHIF T B W QU |
Write the formula of physiological density of population. %

5. OFG A S&Jd 99 S Teee Td § w9 TIaidd # AT § ?

How human being has transformed the vast world into a global

village ? =
& 2

6.  HIERAT R H TT Id FA aTet HiE TR FRF ALY |
Write any four factors affecting the literacy rate. 4 x % =1
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10.

11.

12.

ﬂ'ﬁ?ﬁlﬁ Eﬁﬁq :
ST qw] &1 AR
(31) ST (i) @A™
(@ I3 (ii) T
(F) RS (i) I
() =g (iv) T
Match the following :
Tribes Tent's name
(A) Khirgis (i) Khaimas
(B) Red Indians (ii) Kraals
(@] African nomads (iii) Yurt
(D)  Baddus (iv) Tipis. 4 x % -1
3N ®9 T T STHEET i T35 i 5T |
Define economically active population. 1

MMk T TR o 3T T AT Bl IS &Y MR THIeM T @ |

Besides the level of economic development, write any two fundamental

aspirations of the people. % + % =1
3 3R G H SR HI S |

Distinguish between quarrying and mining. 1
21 AT TR i G o AT 1 AT S 1@ 9 SR |

Draw a labelled sketch of the geographical location of Tokyo. 1

T FTAE Bl FHel AR MIH HA & A0 A QT |

. . . . 1
Write any four economic activities of quaternary occupation. 4 x ” =1
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13.

14.

15.

16.

17.

18.

19.

20.

6

I3 A TSR P ATEAH Y EH Ih AF-37 HEAT I@d €, af 3T g Jall
T TFT BT IR F 2

If you want to do commercial dealings through electronic means,

which service would you select and why ? 11 1

2 2
ARG &5 Sl T LA T I STT AT STHEEAT Gh50T o Hie aF Y &5 1 @U |

Define Ecumene areas. Write any two major areas of population
concentration. 1+1=2

ST 3T 3CEH F § & 9 SR A EQ |

Write four characteristics of commercial grain farming. 4 x % =2
TR 37 gaTdi . Feel RTINS 1 3o01g HI 5T |

. 1
Mention any four problems of urban settlements. 4 x 5 =2

3T T STel T {8 &l YT TAT el Shkehl T 94X il € 2 (his 9W)

Which factors determine the utility of inland water transport ?

(any four) 4><%=2

3RS 1T T T T o TR gadl9eh G & &3 I |

Draw an outline map of Australia and depict the secondary

occupational areas. 1+1=2

ITRIERT ST T@T | T 1T ShT-oh1 837 LoTHTT hi 31 e I |

Draw an outline map of Africa and mark Cape Cairo railway. 1+ 1 =2
TT Y U< F FARLE AR AT I8 & af A & hg FqTE HT
TAE BT SR T ?

If you want to do international trade of cement, which means of

transport would you select and why ? + 1% =2

L
2
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21.

22.

23.

24.

7

JT Y AH T TeRT Qarsll & odR & I'd & af 377 &4 ¥ T E8d
% WIEF HT TR HET 2 ITF TR &G A o S I9M FERT |

If you want to extend fast transport services, which means of transport

would you develop ? Suggest any three prerequisites for its

development. 1. 11 =9
2 2

T ST+ AAE &, A5 UF G dh dIdeRvl 1 aER @ guH
FHIT |
SN

Ul ST & o &, IS Ud Gih I aideRel H SR d g
HIST |
Describe in detail the habitat, food and cultural environment of the

Bushmen. 11 +1+ 11 =4
2 2

OR

Describe in detail the habitat, food and cultural environment of the

Eskimos. 1l + 1+ 1l =4
2 2

SFEEIT 0T X B Sl UMTET A Ol el O Wi deh Sheh Wl
AT T ST |

37l
Y o TGRS 9N ol STAEEAT Gra=dl THETST bl AT ohi 9T |

Explain any four physical factors affecting the distribution and density

of population. 4
OR

Explain population proplems of the developing countries of the world. 4

MR § ST 1 39U & 7 MR Hi TERaH I T A ad i aret

T i AT 1 T |

What do you mean by trade ? Explain the basic conditions and factors
affecting trade. 1+1+2=4
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